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1. A garden is in the s
trapezoid and a se
1agram below.

hape of an isosceles

micircle, as o e 3. A window is made up of a single piece of glass

in the shape of a semicircle and a rectangle, as

; ence wi .
perimeter of the en ill be put around the shown in the diagram below. Tessis——
fencing (in terms o

ire garden. How much

£7) will be Wi decorating for a party and wants to put a string

of lights all the way around the outside edge of

_ x5 the window. To the nearest gool! what i
= 2T d length of the string of lights that Tess wisllﬁrl;cd
1\ to decorate the window?
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2. Serena’s garden is a rectangle joined with a Lg\'\jfa
ne \
semicircle, as shownml__tﬁt%liﬁgram below. \2 121

Line segment AB is the diameter of semicircle 2 Dy o M
P. Serena wants to put a fence around her

i garden.

Calculate the length of fence Serena needs to

the nearest tenth of a foot. . 1of
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/.\ C T Ok 4. Ross is installing edging around his pool,
Al ____] - B which consists of a rectangle and a semicircle,
o e -)i"{g' ((9\ as shown in the diagram below. Determine the
q L* length of edging, to the nearest tenth of a foot,
5 ~ that Ross will need to go completely around
9ft q C 2O A the pool.
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The diagram below consists of a square with a

side of 4 cm, a semicircle on the top,and an

¢quilateral triangTe on the bottom. Find the
penimeter of the Tigure to the ne

8. What is the area of the trapezoid below 1, the
nearest square foot? (hint: Use TRIGy
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9.A designer created the logo shown below. The
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logo consists of a square and four quarter-
circles of equal size. Express, in terms of x,

the exact area, in square inches, of the shaded
] e

region, ( 3?_
6. Lu?s IS going to paint a basketbal] court on his j A CHEE S 4
dr1yeway, as shown in the diagram below., - Cl'TT
This basketbal] court consists of g rectangle ‘
and_a semicircle. = As quaves ( Q’)( (D )
Which €Xpression represents the area of this: @ ]
basketball court, in square feet? \ 5 = 230
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A figure is made up of a rectangle and a

semicircle as shown in thg diagram below.
at 1s the area of the fi gure, to the nearest
tenth of a square centimeter?
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0. In the diagram below, MATH is a rectangle,
GB=4.6, MH=6,and HT=15 ———sn

What is the area of Polygon MBATH 1o the
hearest tenth?
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11. In the diagram below, the circumferenc
 the length of diameter 4D and CE = 4 inche
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e of circle O is 16n inches. The length of BC is three-quarters of
s. Calculate the area, in square inches, of trapezoid ABCD.

A.{xq? - i}‘):_ (lﬁ, 4 bz}h
5 —,}l (\(Q ¥ (o)(’éb

12. Determine the area and circumference of the circle sectors below.
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13. Find the area of the figure below.

AN

Area= D 1 | +3 =43 i | C\’T\‘z(;cnth)

3
;QC'\YCLL - ﬁr

2
= Zeav(4)
= \LW ~371.71

2

Ah\()‘f\gﬂm: JZ:D\’\ - '\?_(‘h (“0 :8 ‘

14) A goat is tied to the edge of a square barn
with a 15 foot lead. This is a top down view of
the barn and the goat. The goat cannot go travel
through the barn. What is the total grazing area
for the goat in terms of ©?
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